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³$OODK�PHQFLWDL�RUDQJ�RUDQJ�\DQJ�EHULOPX��$OODK�MXJD�PHPEHULNDQ�NHPXGDKDQ�

EDJL�\DQJ�PHQJDODPL�NHVXOLWDQ��$OODK�VODOX�DGD�XQWXN�RUDQJ�\DQJ�VDEDU�VHUWD�

EHUGRD�GDQ�EHUXVDKD�DGDODK�NXQFL�GDUL�VHEXDK�NHVXNVHVDQ´
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.HGXD�RUDQJ�WXDNX�WHUFLQWD�%DSDN�%DPEDQJ�6HWLDZDQ�+DVLEXDQ GDQ�,EX�+HQQ\�

6XNPDZDWL�$ULWRQDQJ��6�3G��0�3G���\DQJ�VODOX�PHPEHULNDQ�GRD��GXNXQJDQ�GDQ�

NDVLK�VD\DQJ�\DQJ�WXOXV�VHWLDS�ZDNWX

.DNDN�NX�WHUVD\DQJ�GU��$GH�6HWLDZDWL�+DVLEXDQ�\DQJ�VHODOX�PHPEHUL�PRWLYDVL�

VHUWD�VHPDQJDW�XQWXN�WHUXV�PDMX�


